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RATIONALIST TALENT SEARCH EXAM 2017

STD : VII g7 ar
Roll No.

Date of Examination : 12 February 2017 Sunday
qrerfiardr IAT / Guidelines for the Candidate
1. NI AET g GRETT AR 3T il Hledr TTEl hee] EITdl.

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

2. YReT ge groargdl fdemedien carear dqut At @l #oarErd 30 A 3ifte de quard
A,

You will get additional 30 minutes to check and make sure about the information about yourself on
the Answer Sheet before the start of the exam.

3. X YRAYTARHET THUT 100 TR I Ycdeh FRATHIST 2 I[0T 37Te.
This question booklet contains 100 questions each question carries 2 marks.

4. |4 9% HISTAUI @IS Mg, AT SRideeel [ABleledn JOMd FHSATE! TPR I[OT TS Shel
SAMUIR TSN
All questions are compulsory. There is no negative marking.

5. 3Ucare qEITEl YA Aol Tl del egrdY.

Check to make sure that you have received the appropriate test booklet for your standard.
6. TIAAALY Hdd Thd 3o SRR 3. SRR ITRTATSY Thd 9Ty fAasrar.
There is only one correct answer. Choose only one option for an answer.

7. 3OUET 9T EIAUATATS! hadd Hadl/ Aol AT dieideTa araRrdr.

To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black Ball,

Pen only. Eg. -
Q. x : - Fill in the blanks Visit www.rtsexam.com for Answer key after 8 days

My father went.........cccecvvveeiuvrnnee To buy some milk.
a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding Q. x ‘ @ @

To option a) in the Answer Sheet
8. URET HUCATEX JHH SoRUTIT qAAeTehehs TR .
Return the Answer Sheet to the invigilator at the end of the exam.

9. 3MMUedT IRET HATH TRAYRdHAR FeaT foIgTdl T HeX TRAYEART TRET HreMathiedcR 3HTedT Fead .

Write your Roll No. on the Question Paper too and take it home for future reference.




10.

11.

FHATUT ST IIgur A7 37ATAr aragaR faasr,
A) 3Td 3T&<T TTEUT B) JTfga®eT J0T
)31 faAqor D) S5 393Ul

WrelleldehT etr Lrserem gAY foiasr.

A) WiT B) TehTei OESIEE D) T
A) &Y - ARG B) &l - ;<

C) HYHATRMT - dTESD D) 3T - IMaT

‘FUTSCHT AT Aseld Rl ST 3MeT?

A) IR B) UTTr C) T&l D) ard

GToltel QAseid IeTd o SHUTRT 2Usc QMeT.
A) STolenT B) THdT C) 3freTar D) HETIS

FAT AT AseTl AT g G foiasT.
A) WRThH B) TG C) HTolehT D) 3if8&R

grellel s FHGISCGe 9T IHUIRT Teh Asq, o,
el Scel TSgs] HUTUATHTS! Fced VIR -
A) URSH B) adT C) gery D) ShIfcieh R

Find the kind of noun of the underlined word:

Sugar comes from sugarcane plants.

A) Common noun B) Material noun
C) Proper noun D) Collective noun

Find out the one word substitution:
A long journey, especially by sea.

A) Flight B) Voyage C) Odyssey D) Safari

Find the synonym of the word written in capital letters.

DISCOUNT
A) Apologies B) Help
C) Rebate D) Encourage

Fill in the blank with most suitable preposition:
The boy is looking his laptop.
A)in B) on C) of D) at




12.

13.

14.

15.

16.

17.

18.

19.

Fill in the blank with correct form of verb.
| did not the class.
A) Attend B) Attended C) Attending D) Attends

Choose the correct alternative of conjunction to join the sentence.
The guests reached at the home late. The bus was late.
A) because B) and C)or D) but

Fill in the blank with the most suitable article:
We were watching news on BBC last evening.
A) an B) the C)a D) none of these

Which of the following sentence is not meaningful?
A) | have to keep working B) I love to fly in the sky.
C) | take them safely. D) I fly a aero plane.

erear %o-lhbl U3 Ueh U3ATS 720 . AT fqshell aX AT gSIT@MT WS fhaa fancdr?

A) 480%. B) 576%. C) 540%. D) 600 %.

On selling a watch for Rs. 720, the profit earned is %of its cost price. Find the cost price of the
watch?

A) Rs. 480 B) Rs.576 C) Rs.540 D) Rs.600

Scxdl sheH eolldll

Arrange the following descending order.
4 7 3 5 21

A) 3 4 5 7 21 B) 7 215 4 3
16’ 17’19’15 49 15’ 49’19’17 16

7 3 4 5 21 7 215 3 4

B) 12’17’10’ 10 D)_I_I_I_I_
15749 "19 16 "17

Teh glg Tohl AT 4 AN Al T GEAT Bl 3 AT Al o clegl 55 Tehard et
dra glg fohcll dabTd T .
A) 5ard B) T C) - aw D) 5 I
A tank can be filled in 4 hours by one tap and in 3 hours by another tap. In how much time will it be
filled by both the tap together.

12

A) 5 hr B) 12 hr Q)= hr D) 13—1 hr

clel E&IAT AGIT 12 3¢ 9 &7 Sl HEITdTel 3a¥ 3@ 12 378 aX T il a§&am

HIOTIT?
The HCF of two numbers is 12 and also their difference is 12. The numbers are :
A) 66, 78 B) 70, 82 C) 94, 106 D) 84, 96




20.

21.

22.

23.

24,

25.

26.

Tehl THRIUTAT &15] 123 @AY, 126 GAT 3707 243 FAT 3MeT X AT AR &A% fohell?

A) 3300.40 THY? B) 3200.44H#HT

C) 3300.30 T D) 3300.448#T

Find the area of a triangle whose side are 123 cm, 126 cm and 243 cm.
A) 3300.40 cm? B) 3200.44cm’

C) 3300.30 cm?® D) 3300.44cm?

ug?rrT T.AT.E.. 9.6 %Sl 31250 $. Tehl <IIATAT {j,dqo‘a IR Tl 3 JufaT fhdl .
IGERIGH

A) 41141.657%. B) 41444.65%. C) 41411.65%. D) 44414.65%.

Rahul invested Rs. 31250 at 9.6% P.C.P.A. the amount gets at the end of 3 year will be:
A) Rs. 41141.65 B) Rs. 41444.65 C) Rs.41411.65 D) Rs.44414.65
I[UTThIT <h 1

Multiply:

(x-1)(x-2)(2x-1)=?

A) 2x3 -7x* + 7x -2 B) 2x*—7x>-7x -2

C) 2+ +7x-2 D) 253+ 7x*- 7x +2

4x*+ (b-1)xy +9y* &l Cj'\Uﬁ' gt et 3 W b=?
Ifax’+ (b-1) Xy + 9y2 is a perfect square, what is the value of b =?
A) 6 B) 37 C) 12 D) 13

TRSET 2.
Simplify :
43-23 432

2 8 8

145 144

24

Sferarear 3ferear aarear did 9er et fa<ar 38d 9 5 aulel Sed 3], SR Sfearear
ST 9T 4497 3 R Sf9drd e 9 fFcdr?
A) 10 g B) 16 a% C) 13 a¥ D) 18 I%

Babita’s mother’s age is 5 years more than the three times of Babita’s present age. Find Babita’s
present age, if her mother is 44 years old.

A) 10 years B) 16 years C) 13 years D) 18 years
X
[ 28 X 22:| _ 32
2° TR x T A et 2
A L B 7 C > D) -2
) 3 ) g )5 )-




27.

28.

29.

30.

31.

32.

33.

then find value of x ?

A L B 7 C > D) -2

) 3 ) 2 )5 )-
6 HICT oM, 4 HICT I T 1 HIT Tl GSATdTel AT 20,000 faer dhedr. facdr arer 20
AT IMOTEET 12 HAT 3rFeIrE facr SrEr fohcdr?

A)5 THY B) 5.5 WY C) 2.5 AT D) 4.5 §#T

20,000 bricks, each of length 20cm and breadth 12cm are prepared from the soil taken out by
digging a pit of length 6m, breadth 4m and depth 1m. Find the thickness of each brick?

A)5cm B)5.5cm C)2.5cm D)4.5cm
758237 UHIA = gFerdid

758237 centigrams = how many hectograms?

A) 758.237 B) 75.8237 C) 7.58237 D) 7582.37
9 -3 FATH IFYOUNHA FHCR Fl.

Express 9 27—0 as a decimal.
A) 9.05 B) 9.53 C) 9.26 D) 9.35

Tl IRAT & TH (m” + 16m + 64) TWAT 38, dX 1 AR@rr IRATT fhdr?
A) (4m +16)TFHT  B) (4m+64)THT ) (4m+32)THT D) (4m +48) T
Area of a square is (m2 +16m + 64) sqcm. Find its perimeter.

A) (4m + 16) cm B) (4m +64)cm C) (4m +32) cm D) (4m + 48) cm

HARATTeT o:l_’cbc\ltl IMHRTE 3Tl Tdied T hIvTa?

A) SIS B) STRES C) faest D) efarot
Which of the following is the latest newly formed state of India?
A) Chattisgarh B) Jharkhand C) Vidarbha D) Telangana

3iTcrfPdeh TIHT HEccT Tesh [ABIUT gigelr HRAT Afgorm Hior?
A) BIaTE FFrar B) T Al c) fear #Afer D) r&fr wRTe

is the first Indian lady who won a medal in wrestling in Olympics games?
A) Phogat Geeta B) Sakshi Malik C) Deepa Malik D) Sakshi Phogat

ThcdTd 2016 HEY Telelld JHTeledT Elel §ofRTAT sAlcay Wlelleldehl HIUT VAT STelel
3TR?

A) TaTo ARG AfaTreT B) TaTa HIRA fAeET

C) U HeH TFTodl I 3R D) T AR TaTE AR




34.

35.

36.

37.

38.

39.

40.

Which of the following slogan is embedded on the newly launched 2000 Rs. Note?
A) Swaccha Bharat Abhiyan B) Swaccha Bharat Mission
C) Ek Kadam Swacchata ki Aur D) Mera Bharat Swaccha Bharat

GrelTeldehl SETfae qaTaror feeT siorear fgaelt aeRT shell STAT.

A) 5 ST B) 12 SfsT C) 14 5T D) 5 Sfef
Which of the following day is celebrated as world Environment day?

A) 5% June B) 12" June C) 14™ June D) 5™ July
Greledehl o 370]fdegd g Aer?

INREGINS B) heUahs C) foearaer D) ARTGY
Which of the following is not a nuclear power plant?

A) Jaitapur B) Kalpkam C) Vindhyachal D) Tarapur

IR Red S A GeiX 0T 3TRd?

A) TTERTH Y. Tl B) 31.3foid T
C) @3 e D) SY.FsaIRTd
Who is the governor of reserve Bank of India?

A) Raghuram G. Rajan B) Dr.Urjit Patel
C) C.D. Deshmukh D) D.Subbarao

HRATS HHHAT HI0T 3MEA?

A) TeT HigeT T B) Tl 30fr

C) ¥RE YaR D) 31t T&eT

Who is the Agriculture and farmers welfare minister of India?

A) Radha Mohan Singh B) Smruti Irani

C) Sharad Pawar D) Ajit Singh

el JATAT 90 ST ST fo¥ereT Sfreier fhser et @ 29I ATS 37ETeT .
A) gt B) T C) el p) fafs=m

Fidel Castro died at the age of 90. Was the former president of

A) Haiti B) Cuba C) Kongo D) Libya

ATl fAageT MTelel 3AREY el ASCIETET HI0T?

A) Teerlll fofeiecet  B) SifsT o C) Sidles ¢oq D)Wg@?rmam
Who is the newly elected president of USA?
A) Hilari Clinton B) George Bush C) Donald Trump D) Barak Hussein Obama

Jehcird fodT FATRTT g T Aerell. dr sHemell gefad 3me?
A) SsTRee B) i C) 5O D) foiF=iTees




41.

42.

43.

44,

45.

46.

47.

Dipa Karmakar was recently In news, she is associated with -

A) Badminton B) Tennis C) Chess D) Gymnastic

he, TR AT ffer = ST HERTSE TXHRAT ST.ATETHIRS
3TESH TARSIATS! §EATAIT aholl.

A) qOT B) AT C) HS D) 3iRameTE

Central Government transferred Indu Mill land in to Maharashtra Government for
constructing Dr. B.R. Amebedkar memorial.

A) Pune B) Nagpur C) Mumbai D) Aurangabad

ITATRIFT 2016 IS STA?

A) Rarg aaRar B) oISeT

ORI D) [Fa=geis

Olympic — 2016 was held at -

A) Rio-de-Jenerio B) London

C) Sochi D) Queen’s land

GTell STeT9IUTeT ATl 0T 3ol

A) 2004 B) 2010 C) 2009 D) 2011
The latest population census was undertaken in
A) 2004 B) 2010 C) 2009 D) 2011

GlolleldehT 39Tl TATT 3NSET.

A) BETH B) SRICH3T C) ¢faex D) &i9sTel
Which of the following does not belong to the group:
A) Facebook B) Whatsapp C) Twitter D)Snapdeal

TS Rage W feaeds / A For 3mea?

A) feaTa 3. ardier B) AIRTST Hld

C) TSTFAR iaTS D) I R

Who is the director of the Marathi film ‘Sairat’?

A) Dinkar D.Patil B) Nagraj Manjule

C) Rajkumar Tangde D) Gauri Shinde

3.9, 1707 ALY ATEAT Hcgeick Huol Tl DT goiel Tl
A) FESe B) 3TheX C) QMBI D) S8Rk
Mughal power weakened further after the death of

A) Aurangzeb B) Akbar C) Shahajahan D) Jahangir
QMG g 0T G hel.

A) Tl B) UgHCH C) 8leT D) TUAT




48.

49.

50.

51.

52.

53.

54.

Shershah introduced the coin

A) Tanka B) Padamtanka C) Hon D) Rupayya
feeel Afrer arer fahear ITeAT ST
INRCIGES B) 37ehaiT C) AMESTBTeT D) e
built the Red fort in Delhi.
A) Babar B) Akbar C) Shahajahan D) Aurangzeb
SHAT HATIT YTdedT rdhreaed AT oTITell 3Tet.
A) A1k B) AT C) 3R D) T
The Empire came to an end in the fifth century AD.
A) Greek B) Roman C) Arab D) Turk
3.9, 1739 7L il AIGfASTar RIeTa el gEgar foheoll Toiehell.

A) FTeglolT 379r B) cehlSil 31Tar C) ”HATST 3moar D) TR ATEr
defeated the Portuguese and captured the fort of Vasai in 1739 AD.
A) Kanhoji Angre B) Tukoji Angre C) Chimaji Appa D) None of these

gﬁaﬁaﬂaﬁvﬁm.

A) FJdegl Teh B) Jsecle Jueih

C) AlgHAG GlY D) IThr Ay

Who laid the foundation of Qutub minar?

A) Qitub —Ud —Din Aibak B) Qutubuddin Tughalak
C) Mohammad Ghauri D) none of these

ETSTGIT ST HAATST Heel I TR ATd FI gld?

A) TTTEE SITH B) 3TRS[HG Sl SITA
C) A - 3 - faam D) ATTHAT

What was the original name of Mumtaz Mahal, wife of ShahJahan?

A) Gulbadan Begum B) Arjumand Banu Begum
C) Mehr-Ul- Nisa D) Manmati

$.9.1659 HTell YIS JE&T HIUT-HI0Td SHTel?

1) farsT 30T fAedr e 2) ATCRRIGT T HIGHG 2AE

3) STeX 37107 [Om FaT 4) Rraret 3o 3rherar @
Who fought the battle of Pratapgad in 1659 AD?

1) Shivaji and Siddi Jauhar 2) Nadir Shah and Muhammad Shah
3) Babar and Rana Sanga 4) Shivaji and Afzal Khan

&7 TSI Ush Al g <N TS gid.

A) PR B) afgell <o ) gk D) &EX




55.

56.

57.

58.

59.

60.

61.

62.

Which king of Vijaynagar is described as ‘a great and just ruler’?
A) Krishnadevraya B) Devrayal C) Bukka D) Harihar

AT Tl TATIAT HION hell?

A) EHATGST B) STETINT C) e D) ST
Who founded Mughal Empire?
A) Humayun B) Jahangir C) Akbar D) Babar

AT T TR S AT .

A) TeATRRY B) fasIeTeak ¢) fasqT D) UTeeig
What was the capital city of mauryan Dynasty?
A) Ratnagiri B) Vijaynagar C) Bijapur D) Patliputra

Hal=g ~AATeT IS 3R?

A) HeS B) Shelahdl C) =dT feeelr D) FATITYX

The supreme court is located at

A) Mumbai B) Kolkata C) New Delhi D) Nagpur

<ET Holeqd Shoicardl FHTARN HITTAT TTell FROATA 3TeT.
The ten Fundamental Duties were added to the constitution in

A) 1976 B) 2000 C) 1975 D) 2002

HIAFA AR fATSUIHT ToT g1 HIUMT SFTeerT 3me?
A) ST 3mameT  B) fasy e C) fAasure 3maeT D) FEY AT

The responsibility of conducting elections in a fearless atmosphere is shouldered by the
commission.
A) Planning B) Finance C) Election D) Agriculture

fAfITRI &7 ot Serge aga?

A) AR NEGED C) 3TTRepT NEIELS
River Mississippi drains -
A) USA B) Canada C) Africa D) Egypt

TERT dlosde el HIUTIT AT 3T ?

A) 3R B) uf¥as ) qd D) &f&oT
Sahara is located in which part of Africa?

A) Northern B) Western C) Eastern D) Southern
sfarca 3cTEATTST ITieY 3Te.

A) HTIH B) 1§ C) Hal D) ITdHr ATET




63.

64.

65.

66.

67.

68.

69.

Egypt is famous for growing -

A) Cotton B) Wheat C) Maize D) none of these

IATEAT gTieiehReh RO SIVTAT dy 3ol EETOT Hlcil?

A) STTICSTT B) 3MISileT
C) FIeeT ST 3HTFAISS D) RIS
Which of the following gases protects us from harmful sun rays?
A) Nitrogen B) Ozone
C) Carbon Dioxide D) Hydrogen
THBTAT TSI JARGAT (USA) ST $hHATH 3Te.
A) g B) fa&r C) gfgell D) dter
In terms of area, the United States of America (USA) ranks in the world.
A) Second B) Third C) First D) Fourth
I FT 387
A) T gewr B) HEleil Iadled Tc2r
C) T TS D) A\ d®
What is Prairie?
A) Triangular region B) A grassland Region
C) A Religious place D) An airport
HETHIRIAT dosrell 9roar dargsTeT 3Ea
A) 0°F. B) 12°9. C) 15°9. D) 10°F.
The temperature of water at the bottom of oceans is °C.
A) O B)12 C) 15 D) 10

g1 sfocadr disltT W 3%,
A) glehr B) fohche C) pedie D) el
Which of the following is the popular game in Egypt?
A) Hocky B) Cricket C) Football D) Tennis
gedar gAR HTIT YTUhT SAT9olell 3R,
A) 71 % B) 21 % C) 29 % D) 79 %
Nearly % is the earth’s surface is covered by water.
A)71% B)21 % C)29% D) 79 %
ST Hallflieh &TRT IFOTRT TG HIUTT?
pA)dlicesh §Hg  B)HIUTT HAG )T Flec o D) olidsT FHa
The has very high salinity.
A) Baltic Sea B) Caspian Sea C) Great Salt Lake D) Red sea




70.

71.

72.

73.

74.

75.

76.

77.

g 3SUTdd Uehah 3TR.

A)de B) =g C) g D) IH
Which one of the following is the unit of heat?

A) Watt B) newton C) Joule D) Gram
gAY g &d araTelr SArdr.

A) 9oy B) URT c) A NEIGICH
Which one of the following liquids is used in a thermometer?

A) Water B) Mercury C) Sodium D) Bromin

A) HUS dTsd 0l B) HISUTT Us &oy
C) HUSITAT STAT 0T D) %us frgor
Find the chemical change from the following.
A) Drying of clothes B) cleaning the clothes with soap
C) Ironing of clothes D) Stitching of clothes

g1 Taoren gatesh 3mg?
A) Tl TECsh EIEG) C) ST&d D) i

is a bad conductor of electricity.

A) Plastic B) Carbon C) Zinc D) Copper
HIGT ATl ST ATdeaTd, gr ST grar.
A) &TIRIET B) FeITXaT C) SleRT D) AvaATaR
We can get if the female of anopheles mosquito bites us.
A) Tuberculosis B) Malaria C) Cholera D) Typhoid
3eT9ery Sd da RSfaeds cardie HHAT gIdTd.
A) 9T B) frsea c) Saedca D) R&s1eer gery

Cooking food for long time reduce
A) Proteins B) Starch C) Vitamins D) Fats

GTolleldeh! VAT JIUATT ATeh Jaleh JdcaTelol 3Tg.

A) ATUTH B) AT )3T D) AT
Which of the following has most sensitive nose?
A) Man B) Cat C) Cow D) dog

g1 3ofar vo@ I 31Te.

A) ST B) grofY Q) g D) @RT
is the main source of energy.
A) Fuel B) Water C) Sun D)Wind

10

——
| —



78.

79.

80.

81.

82.

83.

AT RRTAT HaTd AT 3aId FHIoTAr?

A) THd B) cardT C) #g, D) BIC TS
The largest organ in the human body is
A) Liver B) Skin C) brain D) small intestine

dréel &I €aeirar gddlel 9T dTedl.

A) HThRATT B) dT9HTT C) a&EJHATT D) ITciTATT
When there is an increase in the speed of sound in air increases.
A) Volume B) temperature C) mass D) movement

qed GG R fohell foheft 3me?

A) 2100 fH&T B) 2250 faraT

C) 15 T fohaT D) 12000 TehaT
What is the distance between earth and sun?

A) 2100 Kilometers B) 2250 Kilometers
C) 15 Crore Kilometers D) 12000 Kilometers

Grellel 3ehciicitel AohIOT Thor FEar fehelr?

Count the total number of triangles in the figure given below.

A) 14 B) 18 C) 20 D) 16
STETel, Toh @ HTel ATl HIE Wlelleldehl SIUTAT ol 3MTehcll 3H Feh GRifdd.

Which of the following venn diagrams best illustrates the relationship among the three class:
“Ship, Truck, Goods”?

0.0 .ty .6

TUehT Hlchideh ATYT POND & 2eg RSTL 31T TAIfgelm STdr @ HEAR & s T Ilhide

AT FHar fergrer?

A) JIGZ B) GHIZ C) GHU D) ICLZ
If POND is coded as RSTL, How is HEAR written in that code?

A) JIGZ B) GHIZ C) GHUI D) JCLZ

11

——
| —



84.

85.

86.

87.

T
TTolTel 9T . 84 o 86 ALY UTgedT &l Ugiam St §a¥ 3¢ dId Ty fawy g Il ug
ALY G, YA IMdelel UG AT .

Instruction :
In the questions 84 to 86 the first two terms bear some relationship to each other. The third and
fourth terms bear the same relationship. Find the missing term from amongst the four options.

(O MRS e Kb o
o O 9 O

~J
o o
e o

A) B) C) D)
8:64::25:7
A) 125 B) 625 C)521 D) 137
OA:HH:TC:?
A) ML B) LK C) KL D) NO

Groitel 9eaTTd Repre=ar dlandla gaTaiaediar oy IEar a9 .

In the question below which number will replace the question mark in the box?

7 19 [11
16| 72 | 8
7 112 |11
A)6 B) 8 C)9 D) 12

12

——
| —



88.

89.

90.

Grellel FREATcTel 3Tehciiael quT VIS AT g foasT.

In the following question, find out which of the options completes the figure matrix.
9%T 3'11'5!?_('n' / question figure

3 AThcT / answer figures

A) B) Q) D)

dlhlel TR BIUAMATSY FRaT Tl dcilcldd SHOMRY 3Mepcl G fasr.
Select a figure from the options which fits exactly into question figure to form a complete square.
W 3Tehcil / question figure

ol

3 HWT/ Answer figures

S By 3[R

D)

Trellel el SHOURT 2Ase; fAdsT.
A) qoT B) $TShT ATaTel c) far D) &RT
Find the word that belong to the following group.

Godavari, Koyna, Tapi,
A) Pune B) Bhakra - Nangal  C) Bhima D) Dam




91.

92.

93.

94.

95.

Qreftel Ge& 3MTehcirdl RATT GHURY i et e,

Find out the mirror image of the question figure from the options.
9T 3-1'@7—?[ / question figure

A) B) C) D)

GTellel TSI Hﬁfrqg‘r d AT hA T4l

1. fRregor 2. Al 3.98reT 4.HATS

In the following question, arrange the given words in a meaningful sequence.
1 study 2.Job 3. Examination 4. Earn
A)1,3,2,54 B)1,2,3,4,5 C)1,3,5,2,4 D) 1,3,5,4,2

Gloltel TEIATATAATS fa9ilg U 3Noar.

Find the odd man out in given number series.
A) 39 B) 78 C) 52 D) 85

@reltel TIegATell quT &

Complete the following symbol series:

><=,<=>,=>%L,?

A)><= B)>=< C)<=> D)<>=

3MTehclle TRATET Sl JUAT A9y I fAder.

Select proper alternative to replace the question mark in a diagram

84 81 88
14 (12 | |18 |09 ? |11

A) 16 B) 21 C) 61 D) 8

14

5. 319

5. Apply
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96.

97.

98.

99.

100.

GrelleT3Meheilclel oM HEAT foheil?

How many anglers are there in the following figure?

A)8 B) 36 C) 38 D) 18

1 AT 1995 i JUAR 3, W1 AT 1996 ST HIUTAT IR 3TA?

A) TTEAR B) hak C) THAR D) e
1* march 1995 was Wednesday so what day was it on 1% march 1996?
A) Thursday B) Friday C) Monday D) Wednesday

feerear aTetdier SIel HBERTAT FATIS I ST

Find out alphabetical term that belongs to the given group.
DINSX, BGLQV, CHMRW
A) AGMQV B) YTOUE C) GHIJK D) AFKPQ

el Regrear Sl Ieg 31+ forgr.

Write the appropriate number in place of the question mark?

A) 5 B) 7 C)9 D) 10

@relleT 99T 3Tehelld ddldd SHUINT 3R qATaTcsT f¥asT.

Which of the following shapes is exactly embedded in the question figure given below?

RG] 3-1'@7—?[ / question figure

ELES W / answer figures

> > [

A) B) C) D)

15
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